
BD004 – Zadání 1  Jméno: ................................................. N = ............... 
Vykreslete průběhy vnitřních sil. 

 

E = 24 + N =  ............................. [GPa] 

L1 = 1 + (17 mod N) = .............. [m] 

L2 = 2 + (19 mod N) = .............. [m] 

L3 = L2 – 1  = ............................ [m] 

q = 1 + (29 mod N) = ................ [kN/m] 

F = 10 – (19 mod N) = .............. [kN] 

M = 2 + (23 mod N) = ............... [kNm] 

αt = 5 . 10-6 K-1 

th = – 5 °C 

td = 53 mod N = ....................... [°C] 

 


